Electrician Theory - 1st Year NIMI Question
Module:9 Earthing (3772T)

Q1. What is the minimum size of Copper earth continuity conductor used in single
phase domestic wiring as per BIS? | S13TSTH o 3{THR Tehel TXOT TR ArARAT & i 37
TARRAT hgeFed &l weTdH THR FAT 52

(A) 3 Sq.mm

(B) 3.5 Sq.mm

(C) 2.5 Sg.mm

(D) 1.5 Sg.mm

Answer:D,

Q2. Which method is used to reduce earth resistance value in a existing earth? | HCT
3724 FISIT H 372 G ATl 1 A X & fov fohg gearfar s 3u=iter fhar sirar &2

(A) Increasing the length of electrode | SIS FI TS T

(B) Keeping wet condition in earth pits always | Rl & 3156l 7 gHRT el TS & I@=T

(C) Adding more sand and charcoal in earth pits | 3T8¢ # 3R ¥d dUT TR FAT

(D) Increasing the diameter of earth electrode | 3{\sc»ier<;.\|s T ATH FGTodl

Answer:B,

Q3. Why A.C is required to measure the earth resistance by using earth resistance
tester? | 317 UfaRTer qdaTeh o1 3UTNIT leh 372 o YTARIET Sl ATIA & foIT A.C ST ATaThdT
FAT8?

(A) Regulate the current | #e &l fT# T AL

(B) Increase the voltage drop | diecsT UTd d&IT

(C) Decrease the voltage drop | aleesT IId €eTd

(D) Avoid electrolytic emf interference | 379acy fd.aT. Sef &l gelelm

Answer:D,

Q4. What is the formula to find voltage drop of a A.C single phase wiring circuit? | A.C
Tehel ol ARG IRUY o dlest 9T i Tolehrorsl 1 FF 152

(A) Voltage drop = IR volt | @lecst 91 = IR dlec

(B) Voltage drop = I2R volt | alecst 9Td = 12R dlec

(C) Voltage drop = I/R volt | @lecsT Iid = I/R dlec

(D) Voltage drop=IR/2 volt | dfecst 9T = IR/2 dleT

Answer:A,

Q5. What is the maximum permissible load for a power sub circuit as per |L.E rules? |
I.E &l & 38R 9Tk 39-9R9Y & foIT ifeehds 3 81X 41§72

(A) 800 Watt

(B) 1500 Watt

(C) 2000 Watt

(D) 3000 Watt

Answer:D,
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Q6. Which location the service connection supply leads to be connected at consumer
main board? | 3Yserdl HE 1S H JaT Hailolel Il Fohe T & ST gl 82

(A) IC cut out | yé@razm

(B) Main switch | 7 [Fa=

(C) Energy meter | | Sty

(D) Distribution board | faaRor a5

Answer:B,

Q7. What is the type of test in domestic wiring installation? | EXe] arAIRT FATTAT #
GRI&TOT ST YRR FAT 82

CRCUT FUSES W

iL__| __: AT
T #
=\

(A) Polarity test | €adr S

(B) Continuity (or) open circuit test | AT (1) el g S
(C

(D

) Insulation resistance test between conductors | TTelehl & HEY Frellereh FTRIEr ST
) Insulation resistance test between conductors and earth | <ITereht T SR & FEY FTelh
gfeer Sra

Answer:A,

Q8. What is the permissible leakage current in domestic wiring installation? | EI'QT»‘T\
ArIRET TATIAT H 3eTHT RETE ATl 7 52

(A) 1/5 x Full load current | 1/5 x o7 1 &IRT

(B) 1/50 x Full load current | 1/50 x qp‘r R 9RT

(C) 1/500 x Full load current | 1/500 x qg‘r A 9T

(D) 1/5000 x Full load current | 1/5000 x tj;U‘r A GRT

Answer:D,

Q9. Which formula is used to calculate the diversity factor? | fafaerdr ajutier s arorer
A o [T Tohe 1 3TN fohal SITaT 82

(A) Diversity Factor = Maximum Load/Installed Load

(B) Diversity Factor = Installed load/Minimum load

(C) Diversity Factor = Minimum actual load/Installed load

(D) Diversity Factor = Installed load/Minimum actual load

Answer:C,

Q10. Which instrument is used to test new domestic wiring installation? | HUEI‘IT»[\
ArIRAT TATYAT T GI&TUT et oh TIT ThG 3UHIUT T 3T ThAT SATAT 82
(A) Multimeter | #FeEIHEI
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(B) Megger | #7R

(C) Shunt type ohmmeter | 7€ YR 31 Hiex
(D) Series type ohmmeter | 0t TR 31197 #Hex
Answer:B,

Q11. What is the type of test in the wiring installation? | ITIReT TATIAT F GLETOT T T

A)
B) open circuit test | gerr aRay S

C) Insulation reS|stance test between conductors | TTelshl & FET $dTeTh gfaRrer sirer

D) Insulation resistance test between conductors and earth | TTerehT T $A & AT FlTelh

Polarity test | gadr S

(
(
(
(

EIGH

Answer:D,

Q12. Where system earthing is done? | %ea 31f%e7 gl fhar ST 872
(A) Generating station | STERTET T2

(B) Electroplating installation | ﬁatlaﬁq?w‘mqm

(C) Small industrial installation | Bﬂé’raﬂaﬁmqum

(D) Domestic wiring installation | aifa‘r\amﬁwwmm

Answer:A,

Q13. What is the test to be carried out by using megger? | I T 3TN FIeh FAT
g{1&ToT fohaT ST 82

(A) Polarity test | €adr S

(B) Insulation resistance test | FaTereh FfaRTer aeoT

(C) Earth electrode resistance test | 9 sﬁﬁg gfaRrer s

(D) Earth conductor continuity test | 8] @TeTeh IBEGEGIRCIG)

Answer:B,

Q14. What is the reason of lamp glowing dim and motor running slow in a domestic
wiring circuit? | Be] aRIRET e 7 o T THE Ha 3R AT AT a1fT T TeleT FT Fa7 HROT
g7

(A) open circuit in the neutral line | gl dTge :ﬁruou CIECE)

(B) Short circuit between conductors | aTeTehl & &TI?T ST YT

(C) High value series resistance fault | Toe AT AN TRAT &Y

(D) open circuit in the earth conductor | Si\lTFqu% aR A gell giaer

Answer:C,
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Q15. Which wiring installation the System earthing is to be done? | &¥ea 31fder &1
forer arafieT T & fore fonar ST 82

(A) substations | 39ehg

(B) Godown wiring | 3&reT araRer

(C) Domestic wiring | BRe] araT

(D) Commercial wiring | eaTaaTi A araRer

answer:A,

Q16. Which method of earth resistance measurement is illustrated? | tc[%ﬁ’rqmﬁm
&1 oleT oY fafr afaT g2

IIl 1

FEAN L } i WA
/ ‘

(A) Fall of current | < T & glelT
(B) Fall of potential | f[@31a 1 gdet
(C) Current dividing | &RT f[a#TSTeT

(D) Potential dividing | fae1a fasreter
Answer:B,

Q17. How to control harmonic distortions in neutral connections as per IE rule? | IE
T & 3TN 3erler HATeTe & graffaes faspfadt 1 Ha fafa famar sme?

(A) Earthlng through impedance | gfasTar & HETH W HATS

(B) Providing by plate earthing | Teie 3171aT gaRT YaTel Fia

(C) Increasing conductor size | dTeleh T 3TehI{ SGlolT

(D) Providing parallel earthing | F#TeaR 31fer &1

Answer:A,

Q18. What is the function of current reverser in earth resistance tester? | 3727 gfaRrer
a{aTeh H YRT 3cshHb Hl HII FAT g2

(A) Converts A.C. into D.C | T. . I 1. 9. & qRafda &arg

(B) Reverses the polarity of D.C | D.C T ¢JiIdll &I 3efe el §

(C) Changes D.C. supply into A.C supply | SRH 3mqfct & THT 3qfef # Sgefer

(D) Reverses the direction of rotation of the generator EIGEE EI}I?T $r TSR SGorelT
Answer:C,

Q19 What is the advantage of stranded conductor over solid conductor? | 3T2T6'U
hgeFed I SIH S &l Jolell H FAT BT 52

(A) Cost is less | RTT & T

(B) More flexible | 31T erirerm

(C) Less voltage drop | e drecst 91d

(D) More insulation resistance | 3ifeieh Famereh Ffarer

Answer:B,
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%?20' How the earth resistance can be reduced? | J2aT & TcRIEr 1 & e Tl ST Heell
?

(A) Providing double earthing | @lg<r 3112 Yeet seatr

(B) Reducing the pit depth for earthing | 31T%3T & foT T3S T IS Fe FIAT

(C) Increasing the length of the electrodes | SFEIS &I TFETS TG

(D) Decreasing the length of the electrodes | ol FI FFETS Tl

AnswerA,

Q21. What is the reason for supplying AC to the electrodes for measuring earth
resistance? | G2 JTcRTET sl AT & [IT Solehels sl THT el Tl et T FAT HROT 52
(A) Provide electrostatic shield | f&uX faegd elies Feret i

(B) Protect the coils in the meter | #eX & FHsell T FII&TT &

(C) Reduce the value of current in the meter | #IeX H YRT T AT TET=T

(D) Avoid the effect of electrolytic emf interference | fdegd 3raereyr faaT aref I et
Answer:D,

Q22. Why the pointer is not stable at zero on the scale as the megger is not in use? |
AIR 3TN A AET &, T oY T Fareh AT e R EUT 8T 572

(A) It is not having controlling Torque | & SeTET &t AT &1 T @I &

(B) Provided with air friction damping | &ar &oT 3fFqaT YereT hr

(C) The deflecting torque is directly proportional to the current | fa=refet aTvIT’r;I'\U‘r R
AT &

(D) The deflecting torque is directly proportional to the square of the current | faTelsl EIT»ITq\U‘r
YRT & F37 & FATIN ¢ |

AnswerA,

Q23. which is proportional for the deflection of ohmmeter needle in earth resistance
tester? | gdl TTeRIY ieTeh 7 AT Fg & faaiTor fohareh Meyaricish 82

(A) Current in current coil | &TRT el 7 URT

(B) current in potential coil | Ta%7a HselT 7 &RT

(C) speed of the handle rotation | %ﬂﬂjﬂﬁ?ﬁ

(D) Ratio of the current in two coils | &Y Hsferal 7 €RT T 3eTdTcd

Answer:D,

Q24. Which principle the earth resistance tester works? | g2dT 9feRrer udietes fohdt
AT 9T 1A HIAT 82

(A) Self induction | T 9T

(B) Mutual induction | =gl 90T

(C) Fall of potential method | fa%ta g1 fafer

(D) Fleming's left hand rule | Feif&3T ST STT 81T &7 fT#

Answer:C,

Q25. Why system earthing is different in utilization than equipment earthing? | 39<h{0T
31T ST Tefett 7 Taeea 311t Jrerer o7t £2

(A) It protects human only | Ig Shdel HeJsZT T T&TT LTl &

(B) It protects from all circuit faults | Ig T IRTr I & SATT &

(C) It is associated with current carrying conductors | Ig YRT dTgeh dTelehl H TFETIT &
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(D) It is connected to the non current carrying metal work | Ig 3R 4RT aigesh %TIT;B%T T aFEefad
3

Answer:C,

Q26. What is the effect if a person receives a shock current of 20 mA? | Ife foreY cafea
I 20 MA YRT T STCHT IS BIdT g ol FIT FHTT IST g ?

(A) No sensation | IS TAGaT Tt

(B) Painful shock | &&aATeh STeehT

(C) Heart convulsions | & 3TdTd

(D) Become unconscious | S&Ier gleT

Answer:B,

Q27. Which electrical equipment L series type MCB's are used? | MCB & & faega
3907 ATt ST 3TN fhAT SATAT 82

(A) Geysers | ISR

(B) Locomotives | lleprAea

(C) Halogen lamps | §ailstel o

(D) Air conditioners | TIR 32T

Answer:A,

Q28. What is the megger reading in a dead short wiring installation? |?>‘s’6r§a1'€|ﬁ'?T
ST H HIR AT UG &I 52

(A) OMW

(B) 1 MW

(C) 500 MW

(D) Infinity | 377

Answer:A,

Q29. What is the advantage of crimping? | TShf&deT & &1 BIIEr g2
(A) Gives neat appearance | §T%h 2T & Sarg

(B) Reduce load current | TR &RT & &Y

(C) Avoid loose connections | @rel TdTSTsil ehl CTelell

(D) Easy to replace | 3Tl & SGolell

Answer:C,
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